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1. Data of 500 students who took an examination of
Physics, Chemistry and Mathematics is given

below -
Passed in all the subjects 1176
Failed in all the subjects 70
Failed in Physics 185
Failed in Chemistry 217
Failed in Mathematics 201
Passed in Physics only 84
Passed in Chemistry only | 52
Passed in Mathematics only | 73

How many students passed in atleast one subject?

(1) 176 (2) 209
(3) 324 (4) 430
(5) Question not attempted

2. n the following series one term is missing. The

missing ferm is —

6, 10, 18, ?, 66, 130, 258
(1) 32 (2) 28
(3 50 4) 34

(5) Question not attempted
3. Based ori the following information, answer the
question given below —
A businessman has five articles P, Q, R, S
and T.
I. P weighs double that of Q.
II. Q weighs four and half times of R.
IIl. R weighs half that of T.
IV. T weighs less than P but more than R. S is

1. 500 fenfRi & sipd RN AT W,
THRF O T IO B U qer <F & R
frr g — )

w1 vt § wwiiot 176 ,
|4 fawal | o 70
Aiferes s | SFRiT 185
TERF YA | IR 217
e | it 201

Padt Aie O 7 9ot | 84
Head YaET we | s | 52

Haet T St 73
T fauml &9 @ o7 v v & <ol &7
- (1) 176 @200
(3) 324 (4) 430
(5) rgeiRe W

2 R E AN e R e gI U E -

6, 10, 18, 7, 66, 130, 258

(132 (2) 28
(3 50 4) 34
(5) sgaRa v

3. et waRl @& ouR W 9" Ry My
WE BT SN <G —
T AMN $ UM UG 9RW P, Q, R, S
@ T &1
L P& ¥R Q9 &I
I Q% ¥R R ¥ ¥I¢ aR T &
IOl R &TUR, T ¥ 310 5|
IV. T & 4R, P 9 &9 @f$TR ¥ 3l 2|

heavier than.R. S;RY WY &) \
Which one of the following is the lightest? Frafoilaa § ¥ 999 ST PIT 27
Mms (2 p ms dp
® R @Q ﬂ B3R @Q
(5) Question not attempted " () erpaa wew

4. The two sides of a triangle measure 5 and 12. The
length of the third side of the triangle lies
between the interval -
(1) 131023
() 3t08
(5) Question not attempted

(2) 6to 10
@) 7to 17

=

4 o By @ <1 g B AT S TR 12 F)
e e e BT G v G B TR s S b
EACER B

M 133923 26910
(3 378 @ 7917

(5) srgaia we
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5. A question and three statements are given

below —

Question: City C is in which direction to city A?
Statements: I. C is to the North of D, which is
to the West of B.

IL. B is to the South — East of C.

IIL. D is to the North — East of A.
Which of the statement/s is/are sufficient to
answer the question?
(1) Statements I and III (2) Statements I and II
(3) Statements H and ITI (4) Only Statement I
(5) Question not attempted

- Find the signs in the given equation, which when

mutually interchanged the equation becomes
correct -
9+5+ 4 X3-6=12
(1) + and - (2) + and x
(3) + and x (4) + and -
(5) Question not attempted

- Question given below is followed by two

arguments. You have to decide which of the
argument/s is/are ‘strong’ and select your answer
accordingly.

Should there be a total ban on use of plastic bags?.

Arguments:
I. Yes, use of plastic bags causes various
environmental problems.

II. No, instead thickness of plastic. should be
specified which don’t cause much damage
to the environment.

(1) Only argument I is strong

(2) Neither argument I nor1I is strong

(3) Only argument I is strong

(4) Both the arguments I & II are strong

(5) Question not attempted

- Study the table and find the ratio P:R -

Cost | Market | Discount | Selling | Profit/
Price | Price Price | Loss(%)
Article 1 | 12000 | +20% | 10% M P
Article 2 | 12500 | +10% | 15% N Q
Article 3 { 13000 | +30% | 20% o R

(1) 2:1 (2) 1:2 :
(3 2:3 (@) 3:2
(5) Question not attempted

. A vp W g O P R e E —

T TR C, IR A 9 e faww § &7 ¢
G gDa%wﬁr%Gh & B @ Tfaw
=
II. B,C® <fv-gd 7 &1
I.D,A® SITR—94 & & °
PIET /DI P U Pl SR a4 D (o8
i § /87

(1). BT I e I @) Dol
(3) o I Tor I @) Baa pUTI
(5) IR Ue
- & TS wie ¥ ¥ e e € R e
H geeM U GHIEROT el 8 9l 87
9+5+4x3-6=12
(1) + e — (2) +qaT %
(3) = qam x 4 =T -
(5) ar<IRG y<H

. R R T U B o9 9 g Y W

et frotg Few & & S /9 96 e
2/8 R SUP IFGER AU TR B A4

TRl FAERll Bl BR § |

II. 93 S9@ TuN wiRkes & 9eE fAfde
BT TR S iRy & It JEEr @l
BROT T T |

(1) B9 T M ¥F &

(ﬂ??ﬂﬁiﬁlaﬁ?ﬂﬁﬂiﬁﬂmﬁ

(3) BgeT TP [WFS &

@ 1R I3 09 ved &

(5) SrRIRe ue

8. qiferdT BT Segdd HN AR U PR €N

a:,—?g_

arFd | iR | 8e | f[awa | am/
‘ U I B R B G AL i €0)
a1 | 12000 | +20% | 10% |M__ | P
a2 | 12500 | +10% | 15% [N Q
T3 (13000 | +30% |20% (O R

(1) 2:1 (2 i:2
(3) 2:3 @) 3:2
(5) srgaiRa =
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9.

10.

1.

12.

A statement and two conclusions (i) and (ii) are
given below. You have to consider the statement
as true though it seems to be different from the
actual facts.
Statement: All the scientists are males. Abdul

Kalam is a scientist.
Conclusions: (i) Abdul Kalam is a-male.

(ii) Females cannot be the
scientists.

Which of the conclusion/s follow/s from the
given statement?
(1) Neither conclusion (i) nor (ii) follows
{2) Only conclusion (ii) follows
(3) Only conclusion (i) follows
(4) Both the conclusions (i) and (ii) follows
(5) Question not attempted
In a certain language, NOIDA is coded as
QLLAD How is AIMER coded in that

language?
(1) DHOAC (2) DGPBU
(3) DMOBC (4) DNPAU

(5) Question not attempted

Answer the question based on the data giveﬂ in
the table below:

"Number of Students
Performance | Average | Good. | Excellent | Total
.| Gender
Male 10
Female ' 32
Total | 30

Complete the tablé by using the following
rules -

(A) Halif of the students are either Excellent or

Good. ‘
(B) 40% of the students are females.
(C) Oue third of the male students are average.
Number of female students whose performance

is good, is -
(1) 22 20
(3) 16 4) 8

(5) Question nof attemipted

If January 1%, 2007 is Monday, then what was the
day on 1% January, 19957

(1) Sunday (2} Saturday

(3) Monday (4} Friday

(8) Question not attemgpited

10.

11.

12.

9. 91 mqawaﬁrﬁﬁé(l)eﬁv(n)ﬁq

E) aﬂqa?rassﬁ B O™ AEAT R, O

mwﬁﬁﬁﬁwﬁﬁﬁﬁru'cﬁa;mﬁl

P Wl GiFE GOV B | G PaM Up
CEIRCRS

e : (i), srga Fem o goy ¥

T @) Aigent dsnfe e 8 wad #)
T g frepul 4 9 $iar/¥ Ry 77 oM
ATEART BN & /E?

™
78

{

-(ﬂgﬁﬁ&ﬁé(i)mé’rﬁ&ﬁé(ﬁ)aaﬂwaﬂm

(2) e Py (i) SITERT PR B

(3) Taer TPy (i) RN B &

(4) <Y (i) &R (i) SFT FTERYT By &

(5) IR usH

T {ie T Non)AaﬁQLLADﬁaﬁ:

ﬁ?ﬂTW%lWWﬁAJMEREmaEW
In,

(1) DHOAC (2 DGPBU
(3) DMOBC (4) DNPAU
(5) rgiRa U

-?ﬁ%ﬁﬂémﬁmﬁﬁqwma%w

W TE B TR AN —

Tagaial ot wen
VeI o [orel | SoT | g
| BT 10
BT ' 32
T 30
fferiae FTd! &1 SuanT ve Tl B qw

By —

(A) I femlt a1 & S @ e €
(B) 40% it sl £

(€) vo foEE o dwa §) |

(1) 22 @0

(3) 16 @3

() argaRa W

I 1 N, 2007 BT WEER § ol
1 O e, 1995 &Y Biar & on?

(1) <RE= (2) sIfvarR

(3) | (4) ThaR

(5) rpaIRa wee
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13.

14.

Btlowa question and two statements are given:
Question: Three consecutive integers are
written in increasing order. What is
the second integer?
Statements:(i) The sum of the first and third
integer is 22.
(ii) The sum of the thrice of third
integer, first integer and’
second integer is 57.
Give answer as:
(1) Each statement (i) and (ii) alone is sufficient
to answer the question
(2) If statement (i) .alone is sufficient but
statement (ii) alone is not sufficient to solve
the question
(3) Both statements (i) and (ii) together are
sufficient to answer the question but neither
statement alone is sufficient
(4) If statement (ii) alone is sufficient but
statement (i) alone is not sufficient to solve
the question
(5) Question not attempted

The below question is followed by two
statements labelled as (i) and (ii). You have to
decide .if these statements are sufficient to
conclusively answer the-question..

Question: The ratio of Amit’s salary to

Vikas’s salary is 4:5. How much is
Vikas’s expenditure?

Statements: (i) The ratio of Amit’s and Vikas’s
expenditure is 5:6.

(ii) The ratio of their savings is 1:1.

Give answer as:

(1) If statement (i) and (ii) both are not sufficient
to answer the question. More data
(information) are needed to answer the
question.

(2) If statement (i) and (ii) both are required to
answer the question.

(3) If statement (i) alone is sufficient to answer
the question.

(8) If statement (ii) alone is sufficient to answer
the question.

(5) Question not attempted

13. ﬁ%wmaﬁ?a‘rzﬁaﬁﬁ’zwé

T ?ﬂﬂwmguﬁmaaﬁmﬁmw
HEGHR I ERC oI
T (1) UEel SR RN gunie &7 AR 22 2|
(i) dN goiie & RA[, T5a s &R
@inyﬁam‘rmﬂ%l

T TH TR o

(1) U B (1) A ({i)-S1per B U Bl IR
™ B fog gaia &

@3 ®F @) FPal U@ BT
FUT (ii) ADA U B} gA P b (¢
JATGT A8 &

@) ®eF (1) 3R (i) SFI SR I BT SR
T R 8

@ AR @ @iy SPe WG § afed
FA (i) DT YT Bl Bl B B (TG TIT@
w8 8

(6) SrgeiRe. we

14. 9y 37 G 99 & 918 &1 B (1) 3R (i) iRy

Q& | TP 98 99 BN g F @ d Fen
U B SR 3 ® fore wiw €1
Te: oifia @ 399 31 e @ o W U
N 4:5 2 | ' 1.y fhamr &7
FEF: (i) I o R & = @1 U
568
(i) SR T P I 1:1 2]
1SR 9 ISR &

RSN gfe o ) @R G AT T @1 9 o9

3 forn valy 78 €1 ue & S o1 & forg
ST ST (GE) B AT & |

@) afy seF (@) AN @)y TH T B SR o
% e eaeaw B

@R wE W SR ¢7 @ o Paa
U (1) T B |

@afe uF &1 SN v > fow B
FUT (ii) T B |

(5) <IN wed : .
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15.

The sum of a positive number and its reciprocal
is twice the difference of the number and its
reciprocal. The number is -

15.

W= UY 9HSG aHA $a=ﬂ€ﬂﬂ g E‘r Gl
agm%—

AN

(1) % @ V2 (1) ‘/—5 @ V2
@ V3 @ = @3 @ 5
{5) Question not attempted (5) eriRa we
16. Who among the following was NOT a member 16 fr=foiay § @ o YgH PR '\“Ifbfﬁ'f 2024
of Padma Awards Committee, 20247 B TG T8l or?
(1) 1.V. Subbarao (1) g4 gErE
(2) 'Satnam Singh Sandhu (2) e Riz sy
(3) Jogendra Nath Phukan (3) Sir= Rr G
(4) Tariq Mansoor (4) TIRE F ' .
{5) Question not attempted (5) IreiRe we T
17- Hemchandra Vikramaditya, the Hindu emperoris  17- g 1ol &5aws RspAiiey &1 Gea o™ &
related to which district of Rajasthan? e forer 9 82
(1) Jalore (2) Alwar (1) SaR (2) 3R
(3) Ajmer (@ Sirohi ‘ (3) IR (4) R
(8) Question not attempted (5) srpafta we
18. “Kharchi Puja’ is a major festival of - 18. ‘gl qul' I% U@ WER § —
(1) Bihar (2) Jharkhand (1) S8R &1 (2) sREE @1
. (3) Chhattisgarh (4) Tripura () TR &I (4 By &1
{5) Question not attempted (5) srgaRa g
19. In the modified Budget 2024-25 of Rajasthan, 19 o< & URafig qoie 2024-25 F wrdam
LEAP program has been announced under i-Start peed T Q,ﬂTfo B AURBRIT FE B
to upskill start-up founders and youth and to HIRI—HRT 3TP1 s HUreR Suerel HRaM &
provide them skilled manpower. Here the full fery i-Star_fEﬁ SiTTa LEAP WU &Y sigon a5
form of LEAP is - ’ ﬁ%lWLEAPEﬁTEUTW%—
(1) Learn, Excel And Pay (1) o, TRIS TS U (Learn, Excel And Pay)
(@, 89 T® WU (Learn, Earn And
(2) Learn, Earn And Progress Progress)
Br
(3) Learn, Excel And Progress (3) ¥, Yed TS WU (Learn, Excel And
(4) Learn, Earn And Pay Progress)
(8) Question not attempted (@) e, o TS 9 (Learn, Bam And Pay)
(5) Sr<IRT ¥
20. ‘Dhabhai Kund’ is located in - 20. grE Hoe’ AEfeT & —
(1) Bundi (?) Alwar M ¥ T (@@ H
(3) Jodhpur (4) Kota @) SR § @) Prer §
(5) Question not attempted (5) srgafRa wem
11 -@® Page 6 of 24
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21.

22,

23.

24.

25.

26.

The ‘Smart Laboratory on Clean Rivers (SLCR)’
in Varanasi is being established in collaboration
with which of the following country?

(1) Sweden (2) Denmark

{3) Norway (4) Iceland

(5) Question not attempted

For which of the following product French
delegation visited Rajasthan in July, 2024 to
study the possibility of GI tag?

(1) Kota Doria (2) Mathania Chilli

(3) Sojat Mehandi (4} Pokaran Pottery

(5) Question not attempted.

In which region of the moon is ‘Shiv Shakti
Point’ located?

(1) Near the Equator

(2) Near the South Pole

(3) Near the Sea of Tranquility

{4) Near the North Pole

(5) Question not attempted -
‘Which mineral associated with Tungsten is found
in the Degana area of Rajasthan?

(1) Hematite (2) Wolframite

(3) Magnetite (4) Bauxite

(5) Question not atternpted

Under which section of the ‘Bharatiya Nagarik

Suraksha Sanhita 2023 is Zero FIR mentioned? ~

(1) Section 173 (2} Section 428
(3) Section 302 (4) Section 150
(5} Question not attempted

Consider the following statements —

() 1In2023-24, Agriculture and Allied Sectors
contributed 28.21 percent in Rajasthan’s
Gross State Value Added at current prices.
In. the year 2023-24, Service Sector
continued to be the largest sector in the state
with a share of 45.07 percent in
Rajasthan’s Gross State Value Added at
current prices.

Correct answer is -

(1) Only statement (II) is true

(2) Both the statements (I) and (II) are irue
(3) Both the statements (I) and (II) are false
(4) Only statement (1) is true

(5) Question not attempted

an

2. groR) F wE WERew i el Rad
(ToveieR) Frefafea & @ e o @

AN B e Xefu & o W 87
(1) Hsq (2) STis
(3) 5d () 3svels
(6) argiRal W

22. frefafen ¥ 9 59 Saae @ Slieng & @
WA B SR vg Wiw @ ufiREved W
" S, 2024 ¥ SR BT AR A

(1) @rer SR (2) genfear fadd
(3) Hioe A (4) Yo Uied
(5) srgiRa w¥

23. g wfed dise’ o= & 59 &3 § Rerg &7
(1) vFea X @ U ‘
@) <frr g &
(3) <t 3w gifaferd & o
@) SR gI D T
(5) SFIRIRT U

24. o @ ST & H e ¥ e e
ol 9T ST 87

(1) SerEe (2) GISprTTES

(3) FerEe (4 Eﬁaws‘c'

(5) IR U

25. mmuwrﬁaiwq%mzozz. @ T8d P9

T H ofRT THIERNR P oo, 87

(1) g=7 173 (2) =T 428

(3). &=y 302 (4) g=T 150

(5) Irgaifeet g

26. frefaiee wedl W AR Py - =

d) SRR & Hhel WY Yea # yafid
T = PR @ gWE &3 B INEN
2023-24 ¥ 28.21 ulirer &7

() TOTM B Uhd ST qeuded d 9y
2023-24 % @ Vo &7 TEARK T W

" 45.07 ARRG AREE @ GRT ST ST qEn
ST &7 T gAML B[

TE ST & -

(1) Saer B (D EE &

(2) T (1) 3R () <1 6e9 &

3) ®a= (D3R (1) T91 3T &

(@) daa FUF () ¥ ©

(5) srgRIRer U3

11-
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27. Match List-I with List-II and select ihe correct  27- -1 & G-I | gafera FRT sl gfRmi

answer by using the code given-below the lists
List-1 List-II
(Book) (Writer)
(A) Sangeet Raj (1) Krishnanand Vyas
(B) Raag Manjari (i) Bhavbhatt
(€) Anup Vilas (iii) Pundarika Vittala
(D) Raag Kalpdrum (iv) Maharana Kumbfla
Code -
(1) A-(i), B-(ii), C-(iii), D-(iv)
(2) A-(iif), B-(ii), C-(iv), D-()
() A~(iv), B-(iii), C-(ii), D-(i)
(4) A-(iv), B-(i), C-(ii), D-(iii)
(8) Question not attempted

% A Ry Y P BT ST Bed L IR
ﬂ-ﬁq _
T A
(g%s) (eTerep)
(A) w1 () PO
(B) AT Horsy (i) WEHE
(C) 3y faems (i) g=\i9 faga
(D) XFT FeugH (iv) FETRIN T
LB —

(1) A-(i), B~(ii), C-(iii), D-(iv)
() A-(ii), B-(ii), C-(iv), D-(0)
(3) A-(iv), B-(iii), C-(ii), D-(i)
(4} A<(iv), B-(i), C-(ii), D-(iii)

(5) IralRa g

28. Through which toll free helpline mental health  28- Yoo & 5 ot ) AT D IRgH Q
consultation is, being‘provide& by psychological ' HFigene fRusl gRT AFRe wres dael
experts in Rajasthan? W UG BT I vET 87
(1) Tele-MANAS (2) Tele-NIDAN - (1) S (2) Teh—fgm
(3) Tele-ASHA (4) Tele-CHITTA (3) Sei—amem (4) SR
(5) Question not attémpted (5) g =

29. In the modified Budget 2024-25 of Rajasthan, at ~ 29. woRere & uRafia awie 2024-25 %, T
which place the construction of Adivasi N fearht =R i e fe o @)
Pariorama has been announced by the Srgor By 7E &2
Chief Minister? ' (1) g
(1) Karauli (2) Banswara ' i
(3) Dungarpur (4} Dausa (8) SRgR () S
(5) Question not"attempted (8) argeifer we ;

80. Who of the following is the author of the book  30- RFr=ifiReg & & & “gR YR Hed
“Why Bharat Matters”? (Why Bharat Matters)” Y& @& oidd &7
(1} Subrahmanyam Jaishankar f 1 (1) goervas SIggiaR
(2) Bhupender 'Yadav (2) wiz I15q
(3) J Sai Deepak @) o wiE duE
(4) Shashi Tharoor @) 3f3r g
(5) Question not attempted (5) argale ues
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31. The Indian rupee sign ( ) was adopted by the  31- 9RT WRPR GRT AT TYAT F fore (2).T59
Government of Indiz; in the year - qY IRIT AT
(1) 2010 (2) 2012 (1) 2010 § (2) 2012
(3) 2009 (4) 2011 (3) 2009 % (4) 2011 9
(5) Question not attempted (5) ergaRa e
32. Gati Shakti Vishwavidyalaya is situated in - 32. 71fy wfag fovaferey Rea & —
(1) Maharashtra (2) Rajasthan (1) FerTg # (2) TR H
(3)*Tamil Nadu (4) Gujarat (3) afrerrg # (4) o #
* (8) Question not attempted (8) eFTaReE we
33. How many aerodromes are operational in India 33. 1 amred, 2024 3 Refy # wra # faem E?;Ts‘
as on 1% August, 20247 e WA W 87
(1) 127 (@) 157 (1) 127 2 157
(3) 109 @ 141 (3 109 @) 141
(5) Question not attempted (5) sreRIRT U
34. ‘National Milk Day’ is celebrated every year 34 Jfyad wrsfia g feaw wmar winlm & —
on- (1) 28 SR BI (2) 12 Rgw=R 31
(1) 28™ August (2) 12% December
(3) 22 fEra & {4) 26. TgFR Pl
{3) 22" September  {4) 26™ November
(5) Question not attempted (&) IR 5t
35. The name of the project, led by UGC in 35 JSTRM & < # WRCR Ao afafr & GgdrT
collaboration with Bhaitiya Bhasha Samiti, @ arrel dfa aut #§ 22 srpgfEa Wl # 22,000
which aims to produce 22,000 books in the next TS IR P FT A6 <@ dlel Jlojae Bl
five years in 22 scheduled languages is - I E
(1) ASMITA (2) PRAGATI (1) ASMITA (o) (2) PRAGATI (FTir)
(3) BRIDGE (4) STARS (3) BRIDGE (#%))  (4) STARS (¥cT¥)
(5) Question not attempted (5) argeiRa e '
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36. Which Jaipur film Director’s debut film 36- SR 61 f6g e Mdee @) wgell vy de

‘Sad letters of an imaginary woman’ has received

the Asian Cinema Fund 2024 award?

e ol T SRR g BT TR R
BS 2024 YRHR fHern?

1

a Nidhi Saxena (2) Taru Jindal - (1) S e (2 T fSiga
(3) Monika Jain (4) Sandeep Kaur E (3) \iftver O ®) T B
" (5) Question not attempted (5) srRIRG ueA
37. Consider the following statements regarding ~ 37- oI #H e RN & Hey § f=fRad
“Mission Madhuhari’ in Rajasthan - HeMl R faaR e — .
(A) It is started to prevent Type-1 Diabetes. (A) 39 TI3U-1 SHREN ¥ 9919 @ forg g
(B) This program is started under the joint e TR 8
aegis of the Medical and Health (B) 9% ®iipd fafbear vd wrem fwm,
Department, National Health Mission and A Wy e 9 6] peesiE @
Ford Foundation. YT T AR fRbar T ¥
Choose the correct option - el faey gfrg —
(1) Only statement (B) is correct (1) B9 B (B) W) &
(2) Both-the statements (A) and (B) are incorrect (2) oA (A) T (B) EH1 el &
(3) Both the statements (A) and (B) are correct (3) BeF (A)T (B) T4l 8T &
(4) Only statement (A) is correct (4) Had FAT (A) TET &
(8) Question not attempted (5) SIRIRG U
- 38 The first multi-sports beach games in India, 38 wWRA ¥ U= Hed-wiey 9= W, T 9 e
“The Beach Games 2024°, was organized at - 2024' I A Gl gar?
(1) Golden Beach, Odisha (1) esT 9=, anfewn
(2) Eden Beach, Puducherry (2) S5 ¥, g
(3) Ghoghla Beach, Din (3) arerer 9y, <9
(4) Kasarkod Beach, Kamataka (4) PRIPIS 95, BAlcH
(8) Question not attempted (5) saRa w=
39- How many Delimitation Commissions have been 39 GaIE, 2024 T% Re TRBR ZRT e aRbas
constituted by the Goverriment of India till TN ifea feew g &7
July, 20249 ) @ @ =
.(1) Two (2) Four @) S @ v
(3) Three (4) One
(®) Question not attempted (5) argetRRer wre
40. Germplasm station of RCDF 1td. is situated at - 40. IR fafits @1 wiemst R Rerd
(1) Jobnér (Jaipur) 3)‘@@? ( )3
(2) Narwa Khichiyan (Jodhpur SN .
@ Nado (Pat d pur) (2) e Raferr (srgR)
(4) Barsingsar (Bikanér) © FTI@‘?F[ () :
() REETER (@oeR) §
(8) Question not attempted (8) srTaRa e
11- @ ' Page 10 of 24
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41. Tn a slotted ALOHA with G-stations attempting to transmit in one slot, the throughput is equal
to - |
(n e¢ ' (2) Gxe%
v B) Gxe© (4 2Gxe®©
(5) Question not attempted
42. There are n stations in a slotted LAN. Each station attempts to transmit with a probability p in each
time slot. What is the probability that only one station transmits ii a given.time slot?
M 1-Q-p°! @ «a-pr!
3 nxpx(1-pfr! @ px(l-pr-!
(5) Question not attempted
43. |n ER Model constructs, which type of attribute is most suitable to represent the skill(s) of an
employee for an organization?
(1) Derived attribute (2) Composite attribute
(3) Atomic attribute (4) Multivalued attribute
(5) Question not attempted .
44. In Relational Model, which type of consitfair;t does not allow composite and muilﬁvalued
attributes? ' A EE .
(1) Entity integrity constraints (2) Domain constraints
(3) Referential integrity constraints (4) Uniqueness constraints ~
{5) Question not attempted - _

45. Consider following two instances of relations.X and Y —

X Y
Code | ltem Item ~| Quantity
100 A A 5 '
200 | B B 6
300 B C 3
400 | C |
How many total tupies a Cartesian product between the two relations X.and Y will produce?
(1) 12 ’ (2 7
B 4 4 3

(5) Question not attempted

~
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46. An organization has a Class B network and wishes to form subnets for 64 departments. The subnet
mask would be - '

(1) 255.255.0.0 (2) 255.255.252.0
(3) 255.255.64.0 (4) 255.255.128.0
(5) Question not attempted

47. The physical layer is responsible for -
(1) Process to process delivery | (2) Bit-by-bit delivery
(3) Application to appfication delivery (4) Port to port delivery
(8) Question not attempted

48. Consider the following instance of a relation District —

_ District X
Name | Population )
JA 10
Al 50 .
MM |5

Which of the District name will be returned by the following relational algebra expression?
(vame (enamesrar District))) - [(mvame (Gpoputatonss(District))) 0 (Txame (Snamemca-(Distriet)) ]
B (1) MM @ Ia
@) A AT . @A
(5) Question not attempted

49. Which of the following Multiple Access Protocols is not suifable for wired networks?

+ (1) CSMA/CA : (2 CSMA/CD
(3) TGMA 4y TDMA
-(5)  Question not attempted . b

50 Consider a schema R (A, B, C, D) and functional dependencies A — B, C — D. Then, the
decomposmon of R into R1 and R2 where R1 (AB) and R2 (CD), is -
(1) Dependency preserving but not lossless join
{2) Not dependency preserving and not lossless join
(3) Lossless join but not dependency preserving
(4) Dependency preserving and lossless join

(5) Question not attempted

H
e e T e
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51. Consider following two instances of relation Student and Faculty with operation on these -

instances —

Student Faculty
D-Name | Strength - . D-Name | Strength
cs 900 EE 2000
IT 500 “ECE | 5000
Cyber | 300 ' Cyber | 300
ME 1000 : DS 100
CIVIL 2000 ‘ . | CiviL 2000

LI
(2) Student - Faculty E%

(b) (Student N Facult;r) U (Faculty N Student)

(c) (Shdeht U Facult§) - (Student N Faculty)

(d) Student ﬁ‘%‘géuﬁy

Identify the coirect option that produces equivalent output -

1) b,c,d @ bd

@) ab ' ' 4 b,c

F (8) Question not attempted

52. For Stop-and-Wait ARQ, for 10 data packets sent, ................... acknowledgements are needed.
(1 11 (@ 9
) 10 @ 20

(8) Question not attempted

. . oy Ty .
33. “View’ in a ditabase is -

(1) A method to improve database performance

2 A physfczﬁ table that stores data

(3) A virtual table created by querying one or more tables
@ A l?ackup copy of a database

(5) Qiiestion not attempited
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54. What is'the role 6f'DNS? It is best described as -
(1) translate 2 host’s IPv6 address to an IPv4 address
(2) maps a MAC address to an IP address : ' .
(3) translate a host’s private IP address to a publi¢-IP address
(4) -maps a domain name to an IP address

(8 Question not attempted

55. Consider Relations R1 dnd R2 as given below —

Ri(®, QR) R2(Q,R, S)
IPlalR a[r][s]
T : ‘qlr |nj
.p q r S EE-RE-N
k {i {3}

. jajr|a
miqg|r; la|r|b]
d_"e f e fig

The number of tuples in cutput of RT 1 R2 will be -

1) 20 @ 5

@ 6 . @ 7
(5} Question not atte;npted .
56. If a Class B network on the intérnet has a subnet mask of 255.255.248.0, what is the maximum
number of hosts per subnet?
(1) 1023 @ 102
(3 1024 @ 2046
(:5) Question not aitempted: |

57. The Address Resolution Protocol (ARP) is used for -

{1y finding the'IP address from the DNS.
{2) finding the IP address that corresponds to a MAC address.

' (3) finding the TP address of the default gateway.

(4) finding the MAC address that (Eorresponds to an IP address.

(5) Question not attempted
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58. Consider below statements —
(I) Each non-leaf ndde in B* tree has between {n/2] and n Children, where n is fixed for a
particular tree.
(I 'The search key of a clustering index is always primary key.
(II) Secondary indices must be dense.
{IV) Inadense index, an index entry appears for only some of the search-key values.
Which of the above statements are true?
(1) Tand IV (2) IIandIII
(3) Iand IO (@) Tand W

]

/ .
{ (5) Question not attempted

59. Which of the following protocol is used for transferring email messages from one machine to

another?
(1) SNMP (2) TELNET
(3) SMTP 4 FTP

(5) Question not attempted
60. What is the advantage of setting up a DMZ (Demilitarized Zone) using firewall?
(1) Improve netwoﬂ; performance
(2) To create multiple zones of trust
(3) Load balancing on the server
(4) Brings internet service into home from internet service provider
(5) Question not attempted

61. What network property is achieved through the use of the Automatic Repeat reQuest (ARQ)

mechanism?

(1) Reliability (2) Availability
(3) Confidentiality (4) Scalability

(5) Question not attempted
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62.

63.

64.

65.

66.

Any relation that is not a part of the Logical Model, but is made visible to a user as a virtual
relation is called a -

(1) Tuple . (2) View

(3) Instance ' (4) Schema

(6) Question not attempted

Two phase locking protocol has which of the following problem(s)?
(1) Chances-of deadlock (2) Cascading Rollback
(3} Neither 1 nor 2 _ (4) Bothl1&2

(5) Question not attempted

The size of the ‘total length field’ of Pv4 datagram is - )
(1) 16 bits (2) 4 bits
(3) 8 bits (4)- 32 bits '

{5) Question not attempted

‘Which of the following is not related to data link layer?
(1) Congestion control (2) Error control
(8} Framing (@) MAC addressing .

(5) Question not éttempted
‘Consider following relation S(S1, S2, S3, E1, E2) and functional dependencies hold on the
schema are as — )

FD1: 81 — {82, S3}

FD2: {E1, 83,82} —» S1

-
FD3 : E2 - {S3, S2, E1} 3
What is the highest normal form of the relation S?

(1) INF (2) 2NF

(3) BCNF (4) 3NF ;

(5) Question not attempted

e T T Yy U
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67. The operation which can be used to specify automatic actions that the database system will

perform when certain events and conditions occur is known as -
(1) CREATE TRIGGER (2) CREATE VIEW
(3 CREATE ASSERTION @ CREATETABLE
(5) Question not attempted
68. Correct order of applying 3 passes in ARIES recovery algorithm is -
(1) Undo, Analysis, Redo (2) Analysis, Redo, Undo
3) Undo, Redo, Analysis ' (4) Analysis, Undq, Redo
(3).  Question not attempted |

69. Consider following schedule with a sequence of operatibns on a data object Q having the initial
value of 500 -

"Tl1 T2
Read (Q)-
! ' Read (Q) CEeTs
Q=0Q+100 ) .
Q=0Q+100
Write (Q) - v
Wwrite (Q)
What will be the final,value of Q after the last operation is completed? v
(1) 600 ' 2 700
(3) 550 @ 500

(5). Question not attempted
70. Which one of the following statement is not correct?
(1) Data models provide necessary means to achieve data abstraction.

(2) Self-describing nature of database system is one of the characteristics of the database

approach.
(3) Database approach doesn’t support data independence between data and programs.
(4) Database approach supports multiple views of the data.

(3) Question not attempted
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71.

72,

73.

74.

75,

76.

ICMP protocol iS @ ...eeccenceiccerirsscsncsessnensnesnannns layer protocol.
(1) Data link {(2) Application
{3) Transport {4) Network

{5) Question not attempted

‘What does /24 denote in CIDR?
(1) 24 bits are used for network portion (2) 24 addresses are available in the subnet
(3) 24 subnets are created (4) 24 bits are used for host portion

(5) Question not attempted

‘Network Allocation Vector (NAV) is associated with which of the following MAC technologies?

(1) CSMA/CD (2) Bluetooth

() Wi-Fi (4) Ethernet
(5) Question not attempted

In ER Model, which of the following relationship is correct for a condition that a person in INDIA

has an Aadhaar Card?
(1) One to one relationship (2) One to many relationship
(3) Many to many relationship (4). Many to one relationship

{5) Question not attempted

An organized collection of logically related data is called -
(1) Transaction (2) Metadata

(3) Database : (4) Data type
(5) Question not attempted
A Reverse Lookup in DNS means a lookup to e 157707 ST records.
(1) map domain names to IP address,‘ A |
(2) map IP address to domain name, PTR
(3) determine the authoritative name servers, CNAME
(4) identify mail servers, SOA

* {8) Question not attempted
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" 77. Lét us assume that there are four (4) network segments in Bus topologies: Al — A2,
B1-B2- Bé, C1- C2 and D1 ~- D2 - D3. If Al, B1, C1 and D1 are interconnected in mesh,
then how many mesh connections are required? |

(M 45 @ 6
3 10 A 4 12

(8) Question not attempted

78. Indices whose search key specifies an order different from the sequential order of the file are

called - ,
(1)} Primary Indices (® Random Indices _
(3) Sequential Indices (49 Secondary Indices

(8) Question not attempted
‘79. Which of the following concurrency control protocols ensure both conflict serializability and
freedom from deadlock?
(D 2PL (Two Phase Lock)
(In Ti;ne-Stamp ordering
(IIT) Multiple granuiarity protocol

(1) Ionly (2) Tl only

(3) I only (4) Tand II both
(5) Question not attempted
80. Which of the following is true for Circuit SWitching handling multiple simultaneous

connections? ,
(1) A single path is used and shared for all data
(2) It encodes all data into a single channel
(3) Separate physical paths are allocated for each channel

(9) All connections are multiplexed into a single channel

(5} Question not attempted
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81. Which SQL statement is used in embedded SQL to feich data into host variables?
(1} INSERT INTO () UPDATE
(3) DELETE : (4 SELECT INTO
(5) Question not attempted
82. Which of the following protocol may be used as zeroconf ﬁnd plug-and-play?
(1) DHCP (2 ICMP
(3) NAT ﬁ 4) TCP
(5) Question not attempted T
83. Consider a relation R with attributes.(A, B, C), where B is the only candidate key. Identify the
total rium‘ber of possible super keys of the relation R.
1 1 (2 3
3 4 | ) @ 2
(8)  Question not attempted
84. The relgable data transfer is IMPIEMERNLEd DY ... cwmmeremsriiusimssnrrmssersssessssensssssinsrssssasssneees
(1) Network layer "~ {2) Presentation layer
| {3) Physical layer (4) ‘Transport layer
(5) Question not attempted

85. The.cardinalify of a relational table with 5000 rows and 10 columns is -
© (1) 5000 @ 10
(3) 500 (4) 50000

(5) Question not attempted

86. Which operation allows us to find tuples that are in one relation but are not in another relation?
(1) Cartesian Product Operation (2) The Union Operation
]

(3) The Set - Differénce Operation (4) The Set Iptersecﬁon Operation

(6) Question not attempted

7
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87. Which set of SQL language commands is used to query and update a database?
(1) Data Definition L’ang,uagé (DDL)
(2} Both Data Control Language (DCL) and Data Definition Language (DDL)

(3) Data Control Language (DCL)

(4) Data Manipulation Language (DML)
-(8) 'Question not attempted

88. P address 172.16.123.213 is found to be residing on a sub-network with the following subnet
" mask: 255.255.255.240. What is the network address of this subne{?

(1) 172.16.123.213 2y )172.16. 123.240

() 172.16.123.245 (4) 172.16.123:208

{8) Question not attempted
89. Tn IPv4, packet fragmeﬁtation-and reassembly is handléd by.........cueveueurnenns .
’(1) using the More Fragments and Fragment Offset Fields
(2) using the Header éhecksum
(3) encapsulating packets in larger data frames
{4) using the MAC ﬁeader
{5) Question not attempted
90. An ER Model describes which type of schema?

(1) Intérnal Schema (2) External Schema

(3 Conceptual Schema - (4) Physical Schema

(5) Question not attempted
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91. Consider a relation with attributes {A, B, C, D} and the following functional dependencies:
A = B, B — Cand C — D. If A is the primary key,.which of the following is true regarding
BCNF?
(1) The relation is in BCNF because all determinants are super keys.
(2) The relation is in 3NF but not in BCNF.
(3) The relation is not in BCNF.
(4) The relation is in BCNF because it is in 3NF.
(5) Question not attempted
92. The number of attribute in a relation is known as -
(1) Features of the relation (2) Address of the relation
(3) State of the relation (4) Degree of the relation
(5) Question not attempted
93. Which operation requires two relations as input to form a new relation and these two relations
must have a common attribute?
(1) Division operation (2) Cartesian product operation
(3) Natural join operation (4) Projection operation
(5) Question not attempted |
94. How many bits for ‘Fragment Offset’ field are there in IPv4 header?
‘(1) 10 bits (2) 32hits
(3} 13 bits (4) 16bits

(5) Question not attempted

o

95. The size of MAC address (in bits) is - )
(1 24 (2) 48
(3 36 @ 42

(5) Question not attempted
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96. What are the maximum number of spanning trees (Ts) possible fora complete’giaph-Ks on

5 vertices?
(1) 100 2 20 ¥
(3) 200 4 125

(®) Question not attempted
97. The primary use of scramblers in Line Coding Schemes is.to -
(1) make the data look random (2) compress transmission data
(3) decrease signal bandwidth (4) increase signal bandwidth
(5) Question not attempted
98. The message 1001 is to be transmitted using the CRC polynomial x>+ x + 1 to protect it fr01g1
errors. The message that should be transmitted is - .
¢} ‘1 001000 (2) 1001100
(3 1001110 _ | : 4 1001011
{8) Question not attempted |
98. The three-way handshake mechanism in TCP aims to -
(1) secure the communication. | )
(2) send bits from one device to another over an optical fibre connéction,
(3) perform error detection and conectiox;. ' -

(4) establish connection and synchronize sequence numbers.
i

(5) Question not attempted

-

100. Total time to access a disk block is given by the - : "
(1) Seck time + rotational delay (2) Seek time + rotational delay + transfer time
(3) Seek time + transfer time (@) Seek time .

(8) Question not attempted

2
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